N\

Linear
Equation

2x + 7=15
2x =15-7
2x = 8




Question 1

Solve the equations.

(@ 7-3n=11n+2
F-2=1n+3n

5 =14n

d
El

Question 2

Solve.
2-x=5x+1

-1 - 5+

| = 62

x N 6

Question 3
Solve the equation.
6(k—8)=178

6le-4g = A8
6 = 18+48

6k = 126
k = 2l

Question 4
1

Make a the subject of the formula s = ut + 5at>.

Sz uf+ -;jdiz
3
s-ut = fat

als-ut) = at2
2(s -ut?

+7—

o =

25 - 2ut
1_')_

(2]

(2]

(2]

(2]

(3]
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Question 5

Solve.
5(w+4x10%)=6x10*
u
5lwtYx10®) - x10° =0
5(w+ 4o00) - 60000 = ©

51+ 20 000 - 60000 = ©
5w — 40000= O
51 = 40 000
W = 8000
y - 8%

Question 6

Solve the equation.
3x+4)=24x-1)
3x+1L = 8x -2
142 = Boxc-3%
1y = 9%

Yoo, o
-

S

Question 7

Solve the equation.

=
w

3(xs50: ¥
Jae+15= F¢

15 = A% -5

- Ux

_.I:\a >
R

Question 8

Solve the equation.

(2]

(3]
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Question 1

Solve the equation.

n-8
> =11
n-8 =122
n= 30
Question 2
Solve the equation.
5-2x=3x-19
5+ « 3x+2x
24 =5x%
L -T2
5

Question 3

Solve theequation 1+ 2x=-15.

2% = —15 -1

gx - 16

2 - -8

Question 4
Solve the equation.

52y —17)=60

oy - 85 =60

0y = 60+85

IOH = M5

Yy = 4.5

Question 5

Solve the equation 4x - 12=2(11 —-3x).

Y -2 = 22~ 6%

Y+ = 22+12

ox =34

Hn = 5-"'

(2]

(2]

[3]

(3]
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Question 6

The cost of a cup of tea is ¢ cents.
The cost of a cup of coffee is (¢ + 5) cents.

The total cost of 7 cups of tea and 11 cups of coffee is 2215 cents.

] —

Find the cost of one cup of tea.

3t + N (t+3D = 2215
It + 1t + 55 : 2213
8t = 2115-55
ISt = 2160
t’ = JZO
Question 7 one wp of Fea(l) = 120f
Solve the equation 3(y-4) +‘§=9.
- Y .
(y-1+ 4 -9
éﬂ-)—”“'g = 18
75: lg+2l’,
:IU: y2
b ¢
Question 8
Solve the equation
x—2_2x+5
4 - 3 -

dx -6 = 8x+ 20

ax_sx= ZO+E’

s < 20
. -2%
) S
Question 9
Solve the equation
3x-2
77 .
5
3x~-2=40
3x s Y2
X = H

(3]

(3]

(2]
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1. (a) Solve 2y=8

Yy =t
1)
(b) Solve —-4=7
t=1
t=.. Mo
1)
%
c) Solve —=3
(©) i
¥ =12
X= ... 12.........
1)
(3 marks)
2. (a) Solve %=6
9:(8
7 T | S
1)
(b) Solve 7y=54
y - 54
q-
5y
§ PO i S ——
1)
(c) Solve 2t-5=9
2t- 1y
t=7
(2)
(4 marks)

The Maths Society



(a) Solve 4w =20
W = 5

T R S
1)
(b) Solve x—6=3
=4
x= el
1)
(c) Solve gz 7
H =2\
g2 T V2
1)
(3 marks)
(a) Solve 3x=12
%= U
X= e Hee.
1)
(b) Solve y=T7=5
E 12
Y= oo e,
1)
(¢) Solve 2t+8=3
1t= -0
t=
-5
L= semamsne Loswwminaimsasspssases
(2)
(d) Solve 2?)] =4
')LJ s ‘ZO
E |10
Y= i 2T
(2)
(3 marks)
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5.

(a) Solve 6g =18
g3
€= v D e
1)
(b) Solve y+5=12
27
J
g N K ——
1)
Sol 13
(¢) Solve "
w =12
X= e L,
@
(d) Solve Sh+7=17
Sh= (©
h=7°2
h= . Lo
(2)
(5 marks)
(a) Solve b-T7=12
b =14
L ——
1)
(b) Solve S5e=40
e=§
€=,
1)
(c) Solve 4m+6=15
Ym = 9
M — _q/
Y
9
T O ————
(2)
(d) Solve Sw-6=10
Hw =16
w > .&
5
16
W=, - W———
(2)
(6 marks)
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(a) Solve 4x+1=9
Yoe = 8
n =2
X = e Essssssssmsssssssens
2)
(b) Solve 2x—-5=4
23 = 9
=43
A
4
X5= eseinioss 2
2)
(c) Solve 2y—1=12
2y - 13
!
J° =
13
R S
2)
(6 marks)
(a) Solve 4x +1=19
Yo =18
7= ,/-—5—
v
s 49
ya X = oeeZeeeeeeeeeeeeeere e,
2)
(b) Solve 4x+3=19
Yoo = (6
nw =
X = e
2)
(c) Solve 2 +7=
2({ =-6
q = -3
7 I RS S
(2)
(6 marks)
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10.

(a) Solve xtx+x=15
3n = (5
n= o A T
(2)
(b) Solve 6x—7=38
bx = 45
- 4S5
x5
.15
T 5
X =
(2)
(c) Solve Ix+18=74
F2¢ — 56
X = 8
TP W
(2)
(6 marks)
(a) Solve 2y+3=8
2y=95
s
) 5
W - I
(2)
(b) Solve 5(t-3)=25
5t-15=25
5+ - o
+:38
= . 8 e,
(2)
(c) Solve 4(5y—-2)=48
203 -§ - Y6
0y . 56
I s
J 7o
. I
(2)
(6 marks)
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11. Solve 13x+1=11x+9
[SIJL"HZ = q—',

lx = Q
A = |4
Y
X S reeevreeesnneesnnsesnnessnnessnaesans
(3 marks)
12. Solve 5t—4=3t+6
&= 16
t =5
£= e
(3 marks)
13.  Solve 4y+3=2y+8
2y -5
S5
2
(3 marks)
14. Solve S5y+1=3y+13
Zy = 12
y = )
LT
(3 marks)
15.  Solve 3y+10=5y+3
- ZU = -7
_ =
477
3
7
4 (3 marks)
16. Solve 2y 11 =0y=+5
- L’H = -1z
y = 3
_ 3
L SR U
(3 marks)
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